
TG581−2A_1

log L/∆L  Leuchtdichte-Kontrast-
EmpfindlichkeitsschwelleLg=0,6cd/m2
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F=A1(F3’/F3+F4’/F4)

A1=85.5
A2=−0.08
A3=0.97
A4=0.37

LI 0,4s A
equation



TG581−2A_2

log L/∆L  Leuchtdichte-Kontrast-
EmpfindlichkeitsschwelleLg=6cd/m2
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x=logL

x y
A 0,39 0,41

F=A1(F3’/F3+F4’/F4)

A1=107.9
A2=−0.9
A3=0.95
A4=0.38

LI 0,4s A
equation



TG581−2A_3

log L/∆L  Leuchtdichte-Kontrast-
EmpfindlichkeitsschwelleLg=60cd/m2
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x=logL

x y
A 0,39 0,41

F=A1(F3’/F3+F4’/F4)

A1=136.5
A2=−1.73
A3=0.94
A4=0.39

LI 0,4s A
equation



TG581−2A_4

log L/∆L  Leuchtdichte-Kontrast-
EmpfindlichkeitsschwelleLg=600cd/m2
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x=logL

x y
A 0,39 0,41

F=A1(F3’/F3+F4’/F4)

A1=173.0
A2=−2.56
A3=0.92
A4=0.42

LI 0,4s A
equation



TG581−2A_5

log L/∆L  Leuchtdichte-Kontrast-
EmpfindlichkeitsschwelleLg=6000cd/m2

−3 −2 −1   0   1   2
−2

−1

  0

  1

  2

x=logL

x y
A 0,39 0,41

F=A1(F3’/F3+F4’/F4)

A1=219.6
A2=−3.39
A3=0.9
A4=0.45

LI 0,4s A
equation


